R5 R6 R5 R6 R5 R6
4-40 5-13 4-70 5-26 4-25 5-1
5 4 5 4 5 4
‘A 1 ‘0 ‘0
X+Y 5 /3 5 /4 5 /4
/ 4-45 / 4-75 / 4-30 /
/ 5-13 = 5-16 5-26 7 5-30 5-17 5-5
4-44 4-74 4-29
Z 5-12 - 5-26 — 5-1-
R5 45 13 4 44 5 12
A
R5 75 26 74
26
R5 30 29
1
R5 R6 R5 R6 R5 R6
4-40 5-11 4-70 5-26 4-25 5-1
3 4 3 4 3 4
1 0 0
4 4 4
X+Y 3 /5 3 /4 3 /4
4/1 4-43 / 4-73 / 4-28 /
4/1 5-11 5-16 5-26 7 5-30 5-1 5-5
4-44 4-74 4-29 (
Z 5-12 - 5-26 ~ 5-1 —
R5 43 11 4 44 5
R5 73 26 74
26
R5 28 R5

29




R5 R6 R5 R6 R5 R6
4-30 3-59 4-70 3-77 4-10 3-39
5 4 5 4 5 4
Al 0 Al
4 4 4
X+Y 5 / 3 5 / 4 5 / 3
471 4-35 / 4-75 / 4-15 /
4/1 3-50 / 3-62 3-7174/ 3-77 3-394 / 3-42
4-34 4-74 4-14
z 3-58- 3-77- 3-38-
R5 35 59 4 34 3 58
A
R5 75 77 74
77
R6
R5 15 39 4 14 3 38
A
R5 R6 R5 R6 R5 R6
4-30 3-57 4-70 3-77 4-10 3-37
3 4 3 4 3 4
1 0 1
4 4 4
X+Y 3 / 5 3 / 0 3 5
4/1 4-33 / 4-73 / 4-13 / 3-42
471 3-57/ 3-62 3-77/ 3-77 3-371/ 3-42
4-34 4-74 4-14
z 3-58- 3-77- 3-38-
R5 33 57 4 34 3 58
R5 73 77 74
77
R6
R5 13 3 4 14 3 38




R5 R6 R7 R8 R9 R10
54 55 56 57 58 59
4-50 4-55 4-56 4-57 4-58 4-59
5 1 1 1 1 1
4/1 4-55 4-56 4-57 4-58 4-59 4-60
R5 R6 R7 R8 R9 R10
54 55 56 57 58 59
4-50 4-54 4-54 4-54 4-54 4-54
4 0 0 0 0 0
4/1 4-54 4-54 4-54 4-54 4-54 4-54
R5 R6 R7 R8 R9 R10
54 55 56 57 58 59
4-50 4-53 4-53 4-53 4-53 4-53
3 0 0 0 0 0
4/1 4-53 4-53 4-53 4-53 4-53 4-53
R5 R6 R7 R8 R9 R10
54 55 56 57 58 59
4-50 4-55 4-55 4-56 4-57 4-58
X 5 1 1 1 1 1
Y Al 0 0 0 0
X+Y 5 0 1 1 1 1
4/1 4-55 4-55 4-56 4-57 4-58 4-59
R5 R6 R7 R8 R9 R10
54 55 56 57 58 59
4-50 4-54 4-54 4-54 4-54 4-54
X 4 0 0 0 0
Y 0 0 0 0
X+Y 4 0 0 0 0
4/1 4-54 4-54 4-54 4-54 4-54 4-54
R5 R6 R7 R8 R9 R10
54 55 56 57 58 59
4-50 4-53 4-54 4-54 4-54 4-54
X 3 0 0 0 0
Y 1 0 0 0
X+Y 3 1 0 0 0
4/1 4-53 4-54 4-54 4-54 4-54 4-54




55

R5 R6
54 55 55
4-50 4-55 4-55
X 5 1 0
Y Al Al
X+Y 5 0 -
4/1 4-55 4-55 4-55
R5 R6
54 55 55
4-50 4-54 4-54
X 4 1 0
Y 0 0
X+Y 4 1 0
4/1 4-54 4-55 4-54
R5 R6
54 55 55
4-50 4-53 4-53
X 3 1 0
Y 1 1
X+Y 3 2 1
4/1 4-53 4-55 4-54
R5 R6
54 55 55
4-50 4-51 4-51
B
X 1 1 0
Y 3 3
X+Y 1 4 3
4/1 4-51 4-55 4-54
R5 R6
54 55 55
4-50 4-50 4-50
CcD
X 0 1 0
Y 0 0
X+Y 0 1 0
4/1 4-50 4-51 4-50




